2 Supplemental material - tables

Total TO

M + SD Md Min Max M + SD Md Min Max
IBP 87.24 + 23.93 100.00 .00 120.00 77.59 4+ 36.22 100.00 .00  120.00
IBP10 88.77 £ 20.82 100.00 10.00 140.00 77.95 4+ 32.56 80.00 10.00 140.00
IBP10_.MML 91.63 & 19.01 100.00 10.00 110.00 81.72 £ 28.17 100.00 10.00 110.00
IBP40 86.16 + 24.60 100.00 .00 130.00 77.59 4+ 37.57 100.00 .00  130.00
WN 90.00 £+ 23.29 100.00 .00 140.00 77.59 4+ 37.00 100.00 .00  140.00
WN10 89.41 + 20.93 100.00 .00 120.00 77.24 4+ 32.28 80.00 .00 120.00
WN40 87.95 + 26.51 100.00 .00 130.00 73.10 4+ 41.76 100.00 .00  130.00
Noise-like
IBP 78.98 + 27.86  90.00 .00 120.00 61.43 + 38.00 65.00 .00  120.00
IBP10 80.71 £ 24.67 90.00 10.00 120.00 62.86 & 34.96 50.00 10.00 120.00
IBP10_.MML 85.92 + 24.49 100.00 10.00 110.00 69.29 + 33.16 80.00 10.00 110.00
IBP40 80.10 + 26.81  90.00 .00  120.00 62.86 + 37.50 55.00 .00 120.00
WN 84.49 + 26.56 100.00 .00 110.00 63.57 & 37.54 70.00 .00  110.00
WN10 84.18 + 24.41 100.00 .00 120.00 64.29 &+ 36.94 65.00 .00  120.00
WN40 80.61 £+ 31.29 100.00 .00 120.00 63.57 4+ 44.13 70.00 .00  120.00
Tonal
IBP 94.95 + 16.24 100.00 10.00 120.00 92.67 4+ 27.89 100.00 10.00 120.00
IBP10 96.29 + 12.50 100.00 50.00 140.00 92.00 4+ 23.36 100.00 50.00 140.00
IBP10_.MML 96.95 £ 9.11 100.00 50.00 110.00 93.33 + 16.33 100.00 50.00 110.00
IBP40 91.81 £+ 20.93 100.00 10.00 130.00 91.33 4 33.14 100.00 10.00 130.00
WN 95.14 + 18.46 100.00 .00  140.00 90.67 4+ 32.40 100.00 .00  140.00
WN10 94.29 + 15.68 100.00 40.00 120.00 89.33 4+ 22.19 100.00 40.00 120.00
WN40 94.10 £ 19.05 100.00 .00 130.00 82.00 4+ 38.77 100.00 .00  130.00

Table S1: Tinnitus loudness per condition. M = mean; SD = standard deviation; Md
= median; Min = minimum; Max = maximum; T0O = immediately after stimulation

offset



R? (marginal) R” (conditional) df AIC BIC logLik LRT P

Intercept only: response ~ 1 + (1]id) .00 .51 3 12046.00 12061.00 -6019.00
Fitted model : response ~ condition + time * group + (1]id) A7 .60 22 11774.00 11890.00 -5865.20 309.22 <.01

Table S2: Model fitting. df = degrees of freedom; AIC = Akaike Information Crite-
rion; BIC = Bayesian Information Criterion; logLik = log-likelihood; LRT = Likeli-
hood Ratio Test

Arousal Valence

M+SD Md Min Max M +SD Md Min Max
IBP 455 +1.7 5.00 1.00 7.00 5.17+2.09 5.00 2.00 9.00
IBP10 517 £1.65 5.00 2.00 &00 5.00+233 500 1.00 9.00
IBP10.MML 4.10 £ 1.70 4.00 .00 800 5.66 +£2.00 5.00 2.00 9.00
IBP40 5.66 & 1.52 6.00 2.00 &00 4.59+220 4.00 1.00 9.00
WN 493 +£1.89 5.00 1.00 800 5.034£2.58 500 1.00 9.00
WN10 541 +£1.52 5.00 3.00 9.00 4.38+2.03 4.00 1.00 9.00
WN40 555 £ 1.88 5.00 1.00 9.00 397+190 3.00 1.00 9.00
Noise-like
IBP 3.86 £ 1.88 4.00 1.00 7.00 5.8 +221 6.00 2.00 9.00
IBP10 493+ 169 5.00 3.00 800 5.294+258 550 1.00 9.00
IBP10.MML 3.71 £1.33 350 200 6.00 593 +2.16 6.00 2.00 9.00
1IBP40 5.36 &£ 1.50 5.00 3.00 &00 5.00+229 500 1.00 9.00
WN 457 +145 5.00 200 7.00 5.21+2.33 500 2.00 9.00
WN10 5.36 &£ 1.50 5.00 3.00 &00 4.50+221 4.00 1.00 9.00
WN40 557 £2.34 6.00 1.00 9.00 3.79+222 3.00 1.00 9.00
Tonal
IBP 520 & 142 5.00 3.00 7.00 4.53+£1.81 4.00 2.00 8.00
IBP10 540 £1.64 500 2.00 7.00 4.73+212 4.00 2.00 9.00
IBP10_.MML 4.47 +£1.96 5.00 .00 800 5.40+1.88 5.00 3.00 9.00
1BP40 593 +£1.53 6.00 2.00 &00 4.20+211 3.00 1.00 8.00
WN 527 +£2.22 5.00 1.00 &800 4.87+288 500 1.00 9.00
WN10 547 &£ 1.60 5.00 3.00 9.00 427 +191 4.00 1.00 7.00
WN40 553 4+ 141 5.00 3.00 800 4.13+£1.60 4.00 2.00 7.00

Table S3: Stimulus evaluation. M = mean; SD = standard deviation; Md = median;
Min = minimum; Max = maximum



Model R? (marginal) R? (conditional) df AIC BIC logLIK LRT p

Arousal

Intercept only: response ~ 1 + (1]id) .00 .33 3 77628 786.22 -385.14

Fitted model: response ~ condition + (1id) .09 42 9 759.72 789.54 -370.86 28.56 <.01
Valence

Intercept only: response ~ 1 + (1]id) .00 .37 3 858.16 868.10 -426.08

Fitted model: response ~ condition + (1]id) .06 42 9 851.69 881.51 -416.84 18.48 <.01

Table S4: Model fitting - arousal & valence. df = degrees of freedom; AIC =
Akaike Information Criterion; BIC = Bayesian Information Criterion; logLik = log-
likelihood; LRT = Likelihood Ratio Test





